Asch Multiple Choice Questions

Question 1:  
In Asch's experiment, when the task was made more difficult by making the line lengths more similar, what happened to conformity levels?  
A) Conformity levels increased  
B) Conformity levels decreased  
C) Conformity levels remained the same  
D) Participants refused to answer

Question 2:  
When a confederate gave a different answer from the rest of the group, breaking unanimity, how did this affect the participant's conformity?  
A) Conformity increased  
B) Conformity decreased  
C) Conformity remained constant  
D) There was no effect on conformity

Question 3:  
In Asch's line-length experiment, approximately what percentage of participants conformed to the incorrect majority at least once?  
A) 50%  
B) 25%  
C) 74%  
D) 32%

Question 4:  
What is the maximum group size at which Asch found a significant increase in conformity rates before the effect leveled off?  
A) 5  
B) 6  
C) 3  
D) 4


Question 5:  
Asch's study is an example of which type of research method?  
A) Field experiment  
B) Case study  
C) Controlled laboratory experiment  
D) Natural experiment

Question 6:  
What social influence did Asch’s study demonstrate, where participants conformed to the majority to avoid standing out or being ridiculed?  
A) Informational social influence  
B) Obedience  
C) Compliance  
D) Normative social influence


Question 7:  
Which factor did *not* influence conformity in Asch’s variations of the line-length experiment?  
A) Group size  
B) Task difficulty  
C) Unanimity  
D) Gender of confederates


Question 8:  
What effect did increasing group size beyond three confederates have on conformity rates in Asch’s experiment?  
A) Conformity rates continued to rise significantly  
B) Conformity rates stayed the same  
C) Conformity rates dropped  
D) Participants conformed less



Question 9:  
In the variation where a confederate gave the correct answer while others gave the wrong answer, how did this impact the participant’s likelihood of conforming?  
A) They were more likely to conform  
B) They were less likely to conform  
C) Their conformity remained unchanged  
D) They always conformed



Question 10:  
In Asch's study, how many confederates were typically used in each group?  
A) 2–3  
B) 6–8  
C) 10–12  
D) 4–5
### Answer Key:

1) A  
2) B  
3) C  
4) C  
5) C  
6) D  
7) D  
8) B  
9) B  
10) B
